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Problem quickname: 9400

L) Quick:

9400
Calculate the result.

a) 12+ 63.04 = 756.48 b) 62.07 - 20 = 1241.4 ¢) 71.06 - 29 = 2060.74
d) 41 - 79.06 = 3241.46 ¢) 3-33.09 = 99.27 £)9-99.04 = 891.36

g) 38.07 - 13 = 494.91 h) 2-51.04 = 102.08 i) 47 - 48.04 = 2257.88
j) 36 - 38.09 = 1371.24

2)

Quick:

Calculate the result. o
a) 10.0003 - 58 = 580.0174 b) 8.0006 - 60 = 480.036
c) 2.0007 - 96 = 192.0672 d) 9.0009 - 49 = 441.0441
e) 3.0009 - 21 = 63.0189 f) 6.0002 - 39 = 234.0078
g) 5.0005 - 94 = 470.047 h) 4.0003 - 99 = 396.0297
1) 8.0005 - 82 = 656.041 j) 6.0007 - 83 = 498.0581
3)

Quick:
9400

Calculate the result.

a) 53 - 0.76 = 40.28 b) 0.49 - 64 = 31.36 c)82-0.12=9.84
d) 0.88-45 = 39.6 e) 0.18 - 56 = 10.08 f) 8-0.29 = 2.32

g) 0.17-36 = 6.12 h) 77-0.82 = 63.14 i) 86 - 0.43 = 36.98
j) 0.16 - 81 = 12.96

4)
Calculate the result.

a) 3.2 74 = 236.8 b) 5.7- 33 = 188.1 ¢) 7.8-99 = 772.2
d) 6.4-10 = 64 e) 6.7 85 = 569.5 £)3.1-41 = 127.1

g) 9.8 61 = 597.8 h) 6.3 - 74 = 466.2 i) 2.3-24 = 55.2
i) 3.6 79 = 284.4

Good Luck!
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Quick:
9400
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